

Aalborg Universitet

Personality traits' (BFI-10) effect on tax compliance

Olexova, Cecilia; Sudzina, Frantisek

Published in: **Hradec Economic Days**

DOI (link to publication from Publisher): 10.36689/uhk/hed/2019-02-018

Creative Commons License CC BY-NC 4.0

Publication date: 2019

Document Version Publisher's PDF, also known as Version of record

Link to publication from Aalborg University

Citation for published version (APA):
Olexova, C., & Sudzina, F. (2019). Personality traits' (BFI-10) effect on tax compliance. In P. Jedlička, P. Marešová, & I. Soukal (Eds.), Hradec Economic Days: Double-blind peer-reviewed proceedings part II. of the International Scientific Content https://doi.org/10.36689/uhk/hed/2019-02-018

Copyright and moral rights for the publications made accessible in the public portal are retained by the authors and/or other copyright owners and it is a condition of accessing publications that users recognise and abide by the legal requirements associated with these rights.

- Users may download and print one copy of any publication from the public portal for the purpose of private study or research.
- You may not further distribute the material or use it for any profit-making activity or commercial gain
 You may freely distribute the URL identifying the publication in the public portal -

Take down policy

If you believe that this document breaches copyright please contact us at vbn@aub.aau.dk providing details, and we will remove access to the work immediately and investigate your claim.

Downloaded from vbn.aau.dk on: June 18, 2025

Personality Traits' (BFI-10) Effect on Tax Compliance

Cecília OLEXOVÁ¹, František SUDZINA²

¹ University of Economics, Bratislava, Slovakia cecilia.olexova@euke.sk
² Aalborg University, København SV, Denmark frantisek.sudzina@business.aau.sk

Abstract. The tax compliance is in the centre of the interests of researchers of different professional areas, as it has direct impact on the state revenues. The paper contributes to the explanation of the possible factors influencing the tax compliance, from the personality point of view. Big Five Inventory - 10 (BFI-10) instrument was used to measure personality traits. The research was conducted in the Slovak Republic. Only one of the personality traits, conscientiousness, has impact on the tax compliance. The results also provide evidence of the relationship between the tax compliance and two control variables - gender and way of living.

Keywords: Tax Compliance, Personality Traits, Empirical Research, Quantitative Methods.

1 Introduction

The question of paying taxes is in the centre of different researches aimed at the tax compliance. Most of the tax payers have a tendency to pay taxes even when the possibility of the tax evasion revelation is low [14].

In spite of that, the tax evasion extent is still rather large. The value added tax accounts for the most important share in the tax gap, as well as in the structure of the taxes revenues to the state budget. Also, the value added tax frauds can be hidden more easily. But the tax gap also arises from other taxes, namely from the income tax. The average level of the tax gap, expresses in % of GDP, is 10.7% in the EU (28 countries). The lowest tax gap is in Luxembourg (1.6%), and the highest one is in Italy (13.8%), Estonia (13.6%). In Slovakia, where the research was conducted, it is 7.3% [10]. We can think of Slovakia as a country with a middle degree of tax morale.

The tendency to pay taxes, or vice versa, to avoid paying taxes has, therefore, been the subject of different researches [1, 6, 9, 12] but this question has not been exhaustively answered. One of the findings is that tax compliance is positively related to tax morale [7]. Overall tax morale in the different countries, dependent on culture and the attitude of people to tax compliance, should also be taken into consideration.

An interesting relation is between the tax morale and tax evasion. According to Weck [15] there is a strong relation between the tax morale and the extent of the shadow

economy. This was confirmed also by Torgler [13] who concluded that the tax morale significantly reduced tax evasion. But the determining the factors that have an impact on tax morale and tax compliance is still insufficient. We agree that one of the factors influencing the tax compliance is the tax policy with all its means [3]. However, when moving to an individual level, the topics of tax morale and of tax compliance lead to the question how the personality influences the attitude to paying taxes. Thus, the objective of the paper is to provide new insight into the factors that impact tax compliance and to answer the question how paying taxes or trying to avoid paying taxes is influenced by personality and what is the share of various personality traits.

The Big Five Inventory framework includes five traits as the basic measures of individual differences: neuroticism, extraversion, conscientiousness, agreeableness, and openness to experience [2].

The structure of the paper is following: the introduction, data and methodology include the description of data, their collection, and how they were analysed. In the following section, results are presented and interpreted. The last section provides the conclusions.

2 Data and Methodology

With regards to data, they were collected in September 2018. With regards to the sample, respondents were students studying at the University of Economics in Bratislava, Slovakia. In total, there were 209 students, of whom 199 (of whom 55 were men and 144 women) completed all relevant items of the questionnaire.

Students were asked to fill in the questionnaires with the incentive to find out the personality traits at the exercises aimed at the topic of personality. All the students were interested in participation in the research and approved using their questionnaire forms for the research purposes.

Personality traits were evaluated by the Big Five Inventory 2, i.e. a 60-statement version of the instrument for the Big Five Inventory; it was developed by John and Soto [8]. The instruction was to evaluate "How well do the following statements describe your personality" with statements preceded by "I see myself as someone who..." on a 1-5 Likert scale (where 1 stands for strongly disagree and 5 for strongly agree). The official Slovak translation of the instrument was used following the Slovak translation of BFI-2 statements by Halama and Kohút [8], as it was released on the web site of the authors of BFI-2. Additionally, we included 5 statements from BFI-10 [11] which are not part of BFI-2. This allowed us to compute BFI-10, and only these traits will be used in this conference paper.

The scenario from the experimental study on tax compliance [4] was used to examine the tendency to comply with the tax regulations or to avoid complying with tax regulations, though this scenario was adjusted to conditions in the Slovak republic. Instead of a 40% tax, a 19% income tax was used; instead of an absolute tax amount EUR 83330 we used EUR 4000. The 17% probability of tax audit was kept. The scenario was formulated as follows: The participants were required to pay a 19% tax on a self-employed income of EUR 4000 with an audit probability of 17% and a tax evasion fine equal to the amount of the tax evaded. A question was then to state how

much tax they would be willing to pay in this scenario. It will be used as the dependent variable.

Besides gender, respondents also provided information on whether they live with parents, with parents but during studies at the dorm or in a rented apartment, or they live their own household. These variables will be used as independent variables in the model alongside personality traits. Also, additional questions were included in the questionnaire but they have not been analysed in this paper.

Data will be analysed using General Linear Model. IBM SPSS 22 will be used for the analysis.

3 Results

Parameter estimates for the model explaining how much tax a respondent would pay given the demographic factors and personality traits are presented in Table 1.

Table 1. Parameter estimates for the full model.

| Parameter | В | Std. Error | t | Sig. |
|----------------------------------|------------------|------------|--------|------|
| Intercept | 2611.500 | 744.429 | 3.508 | .001 |
| Extraversion | -77.201 | 101.606 | 760 | .448 |
| Agreeableness | -76.137 | 84.690 | 899 | .370 |
| Conscientiousness | -139.737 | 82.105 | -1.702 | .090 |
| Neuroticism | -68.139 | 78.107 | 872 | .384 |
| Openness to experience | 67.669 | 74.524 | .908 | .365 |
| [Gender = female] | 1431.535 | 580.389 | 2.467 | .015 |
| [Gender = male] | 0^{a} | • | | |
| [Live = with parents] | 1675.898 | 558.830 | 2.999 | .003 |
| [Live = with parents but | 1919.257 | 565.865 | 3.392 | .001 |
| during studies at the dorm or in | | | | |
| a rented apartment] | | | | |
| [Live = own household] | 0^{a} | | | |
| [Gender = female] * [Live = | -841.656 | 616.418 | -1.365 | .174 |
| with parents] | | | | |
| [Gender = female] * [Live = | -1255.543 | 623.361 | -2.014 | .045 |
| with parents but during studies | | | | |
| at the dorm or in a rented | | | | |
| apartment] | _ | | | |
| [Gender = female] * [Live = | 0^{a} | • | • | • |
| own household] | 0- | | | |
| [Gender = male] * [Live = | 0^{a} | • | • | • |
| with parents] | 0.0 | | | |
| [Gender = male] * [Live = | 0^{a} | • | • | • |
| with parents but during studies | | | | |

Legend: a. This parameter is set to zero because it is redundant.

The model per se is significant (p-value = .001). With regards to the explanatory power, $R^2 = .149$, $R^2_{adj} = .104$.

Demographic factors, and interaction between them is significant at .05 level. From personality traits, only conscientiousness is significant at .1 level. Parameter estimates for the model only with conscientiousness and no other personality traits are provided in Table 2.

Table 2. Parameter estimates for the streamlined model.

| Parameter | В | Std. Error | t | Sig. |
|---|------------------|------------|--------|------|
| Intercept | 2193.751 | 591.600 | 3.708 | .000 |
| Conscientiousness | -150.596 | 79.006 | -1.906 | .058 |
| [Gender = female] | 1444.215 | 569.972 | 2.534 | .012 |
| [Gender = male] | 0^{a} | | | |
| [Live = with parents] | 1665.636 | 554.757 | 3.002 | .003 |
| [Live = with parents but during studies at the dorm or in a rented apartment] [Live = own household] | 1852.420 | 553.758 | 3.345 | .001 |
| • | 0^{a} | • | · | • |
| [Gender = female] * [Live = with parents] | -926.114 | 607.757 | -1.524 | .129 |
| [Gender = female] * [Live = with parents but during studies at the dorm or in a rented apartment] | -1228.371 | 609.469 | -2.015 | .045 |
| [Gender = female] * [Live = own household] | 0^{a} | | | |
| [Gender = male] * [Live = with parents] | 0^{a} | | | |
| [Gender = male] * [Live = with parents but during studies at the dorm or in a rented apartment] | 0^{a} | | | |
| [Gender = male] * [Live = own household] | 0^{a} | | | |

Legend: a. This parameter is set to zero because it is redundant.

The model per se is significant (p-value < .001). With regards to the explanatory power, $R^2 = .139$, $R^2_{adj} = .112$. Signs of the estimates stayed the same, and the magnitude of impact stayed approximately the same.

To sum up, women and students living with their parents at least part of the year tend to be willing to pay a fuller amount of tax. The two factors together somewhat decrease the amount. And conscientiousness slightly decreases the amount.

4 Discussion

The obtained results are not surprising *per se*. However, it might have been expected that other personality traits, such as openness to experience or neuroticism could also influence compliance with tax rules.

In making a decision regarding a possible tax evasion, the conscientiousness is probably the most important. It can be partly explained by the perception of tax evasion as a professional problem and it is a decision for which one needs to be prepared in advance. Particularly the area of carousel fraud requires precise knowledge of tax legislation and the specificity of different tax jurisdictions as well as organizational skills.

It would be interesting to conduct a survey among entrepreneurs, or among people whose tax evasion was discovered by tax audits. However, we assume that it would be hard to motivate such people to participate in the survey in general; Even if they provided answers, there would always exist an issue whether the answers are sincere as people may fear to provide honest answers in spite of the survey being anonymous.

5 Conclusions

The impact of gender, independence of living of the respondents and personality traits on tax compliance was studied in the research presented in the paper, to contribute to the knowledge of the factors causing tax compliance, possibly tax avoidance and tax evasion.

Tax compliance is significantly influenced by gender and living setting of the respondents. Women and students living with the parents during their university study incline to pay a fuller amount of tax (EUR 4000, or almost EUR 4000). This is in compliance with similar research focused apart from other factors on relationship between the tax compliance and gender [5].

The results also provide evidence of the relation between the tax compliance and conscientiousness. The relation was negative, i.e. conscientious people tend to avoid paying taxes more than the others. The impact of other four factors, neuroticism, extraversion, agreeableness, and openness to experience was not confirmed. BFI-2, i. e. 60-statement version of the instrument for the Big Five Inventory [8] should be applied in forthcoming research (including facet scales), to explain the relation between the tax

compliance and conscientiousness in details and find out the facets (Organization, Productiveness, Responsibility) that are significant.

The other limitations are connected to using the sample that consists of respondents who study at the same university, although, the intention of the research was to focus the research on the students who would probably become entrepreneurs or would make decisions about the corporate taxes after graduating.

Acknowledgements. This paper represents an output of solving the partial task of the project APVV-16-0160 "Tax evasion and tax avoidance (motivation factors, formation and elimination)".

References

- 1. Blanthorne, C., Kaplan, S.: An egocentric model of the relations among the opportunity to underreport, social norms, ethical believes and underreporting behavior. Accounting, Organizations and Society 33(7), 684-703 (2008), DOI: 10.1016/j.aos.2008.02.001.
- Costa, P. T., McCrae, R. R.: Revised NEO Personality Inventory (NEO-PI-R) and NEO Five-Factor Inventory (NEO-FFI) professional manual. Odessa, FL, Psychological Assessment Resources (1992).
- Červená, K., Cakoci, K. Daňová politika a jej vplyv na kreovanie podnikateľského prostredia (teoretické východiská) [elektronický zdroj. In: Dny práva 2017 Days of Law 2017: část III. Stabilita a stabilizace podnikatelského prostředí: 9.-10.11.2017, Brno. Brno: Masarykova univerzita, 2018. ISBN 9788021089747. Pp. 106-120. https://www.law.muni.cz/dokumenty/44813, last accessed 2018/09/09.
- 4. Gangl, K., Torgler, B., Kirchler, E.: Patriotism's Impact on Cooperation with the State: An Experimental Study on Tax Compliance. Political Psychology 37 (6), 866-881 (2016), DOI: 10.1111/pops.12294.
- Hanousek, J.; Palda, F. Quality of Government Services and the Civic Duty to Pay Taxes in the Czech and Slovak Republics, and other Transition Countries. *Kyklos* 2004, 57 (2), 237-252, DOI: 10.1111/j.0023-5962.2004.00252.x
- Heinemann, F.: Economic crisis and morale. European Journal of Law and Economics 32(1), 35-49 (2011).
- 7. Hug, S., Spörri, F. Referendums, trust, and tax evasion. European Journal of Political Economy 27(1), 120-131 (2011), DOI:10.1016/j.ejpoleco.2010.06.005.
- John, O. P., Soto, Ch. J.: BFI-2 Slovak self-report form and scoring key. 2015. http://www.colby.edu/psych/wp-content/uploads/sites/50/2013/08/bfi2-form-slovak.pdf, last accessed 2018/01/03.
- Konrad, K. A., Qari, S.: The last refuge of a scoundrel? Patriotism and tax compliance. Economica, 79(315), 516-533 (2012). DOI: 10.1111/j.1468-0335.2011.00900.x.
- 10. Raczkowski, K.: Measuring the tax gap in the European economy. Journal of Economics and Management, ISSN 1732-1948, 21 (3), 58-72 (2015).
- Rammstedt, B., John, O. P.: Measuring personality in one minute or less: A 10-item short version of the Big Five Inventory in English and German. Journal of Research in Personality, 41(1), 203–212 (2007). DOI: 10.1016/j.jrp.2006.02.001
- 12. Torgler, B.: Tax morale, Eastern Europe and the European enlargement. Communist and Post-Communist Studies 45(1), 11-25 (2012), DOI: 10.1016/j.postcomstud.2012.02.005.

- 13. Torgler, B.: Tax Morale and Tax Compliance: Evidence from the United States. Discussion Paper No. 03–02. Basel: WWZ (2003).
- 14. Torgler, B., Schneider, F.: Attitudes towards paying taxes in Austria: An empirical analysis. Empirica, 32, 231–250 (2005). DOI: 10.1007/s10663-004-8328-y.
- 15. Weck, H.: Schattenwirtschaft: Eine Mo "glichkeit zur Einschra "nkung der o "ffentlichen Verwaltung? Eine ökonomische Analyse. Finanzwissenschaftliche Schriften 22. Bern: Lang (1983).